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GENERAL KNOWLEDGE

The 2014 Hockey World Cup
tournament was held in

(1) London
(2) Australia
(3) India

(4) The Hague

National Pension Scheme (NPS) was
introduced by Government of India
in

(1) 2006

(2) 2010

(3) 2009

(4) 2004

The recipient of 2009 Nobel Peace
Award is

- (1) Barak Obama

(2) Wangeri Mathaai

(3) Kailash Satyarthi

(4) Shirin Ebadi

The most irrigated state in India is
(1) Bihar

(2) Punjab

(3) Andhra Pradesh

(4) Uttar Pradesh

One of the following youngest
persons is elected as MP in 2014
general body Lok Sabha election

(1) Pratap Simha
(2) Heena Gavit

(3) Sachin Pilot

(4) Priyanka Gandhi
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Under the Article 331, how many
members of the Anglo-Indian
community can be nominated in Lok

Sabha by the President ?
(H 3
(2) 4
(3) 2
4 1

One of the following gasses is used
for refrigeration :

(1) Chlorine

(2) Sulphur dioxide

(3) Phosphine

(4) Ammonia

If the President wants to resign, he
should address his resignation letter
to the

(1) Parliament

(2) Prime Minister

(3) Chief Justice of India

(4) Vice President

One of the following Articles of
Indian Constitution says, ‘No child
below the age of fourteen years shall
be employed to work in any factory
or mine or engaged in any other
hazardous employment’ :

(1) Article 45

(2) Article 330

(3) Article 24

(4) Article 368
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1.

1.

Gerontology is the study of

(1) Process ot ageing

{(2)  Growth of the cells

{3y Birds

(4)  Vegetables

Helium is used for respiration in

deep water instead of nitrogen

because
(1) itis heavier than nitrogen.
(2) itis lighter than nitrogen.

(3) it mixes less in blood than

nitrogen.

(4) it helps oxygen burn more

quickly.

The who i1s not

connected with 1857 mutiny

personality

(1)  Bhagat Singh

(2) Lakshmi Bai

(3) Tantia Tope

(4) Nana Sahib
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14.

One of the following Indian banks
on 7™ January 2015 launched
contactless credit cards and debit
cards :

(1) HDFC Bank

(2) ICICI Bank

(3) Axis Bank
(4) Canara Bank

The following Indian film was
nominated tor 2015 BAFTA (British
Academy Film and Television Arts)
awards under non-English best film
category .

(1) The Lunch Box

(2) Two days. one night

(3) Liar’s Dice

(4) Timbuktu

The third National Lok Adalat in
February 14, 2015 disposed 56,000

cases in a single day. This Adalat

was held under the Chairmanship of

(1) Justice H.L. Dattu
(2) Justice T.S. Thakur
(3) Justice Jagadish Singh Kehar

(4) Justice Anil R. Dev

13.
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16.

17.

18.

19.

20.

-

(C))

The chemical symbol of the element
“Tungsten” is

(H T

(2) Sn
3) W
(4) Tn

The hormone which controls
excretion of water from kidneys is

(1
)
3)
4)

Prolactin
Vasopressin
Oxytocin

Adrenalin

“The world human rights day”

celebrating on

(1) December 10"
(2) December 23"
(3) June21®

(4) October 10™

The Tata Institute of Fundamental
Research (TIFR) is located in

()
)
3

Bengaluru
Delhi
Mumbai
Kolkata

The asteroid belt of solar system
present between the planets of

(1) Earth and Mars

(2) Mars and Jupiter
3)
4)

Jupiter and Saturn

Earth and Venus
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21.

22.

23.

24.

25.

According to 2011 Census, the
literacy ratio of men and women in
Karnataka is

(1) 73.39 and 53.33
(2)  85.38 and 66.77
(3)  86.46 and 65.93
(4) 82.85and 68.13

The ‘National Food Security Act’ is
launched on

(1) 2010
(2) 2014
(3) 2013
(4) 2012

The number of general body Lok
Sabha Elections  held after
independence in India till 2014 are

() 15

) 14
(3) 13
@) 16

The Book “Agni Veena” was written
by

(1) Khushwanth Singh

(2) Kazi Nasrul Islam

(3) Ravindranath Tagore

(4) Vishnu Sharma

The book ‘Tereda mana’ was written
by

(1) S.L. Byrappa

(2) U.R. Ananthamurthy

(3) Girish Karnad

(4) H. Narasimhaiah

)
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26.

27.

% Paper-1

In

®

EDUCATIONAL PSYCHOLOGY

Pavlov’s  experiment on

conditioned dog, ringing of bell

without food leads to

(1)

3)

4)

The

extinction

frustration

shaping

reinforcement

skills

correct statement on

learning is

(M

)

3)

4)

Takes long time to learn and

less time to forget.

Takes less time to learn and

long time to forget.

Takes long time to learn and

long time to forget.

Takes less time to learn and

less time to forget.

26.

27.

ST SRCHTI WRW0HT FoAOD
TRNad, wEoIRy Jewde
Notdobty, 08, wRDRTIN A
NpelpTgvicing

(1
()
(3)

®

SEFWALS

Py 30F wt FooIRE Bed?
SRR FES

(1)

(2)

3)

“

sQodben By, Favod IR
2oRId  FH  Iobeo
3 WeDHod SAERNIS. -

OO B Behod R
a’@%f%gd P @HToden
B, Aapod IRDHERRIE.

2&odben Bedy Fadod I
é@%f%gcf DI @Todhen
éa?% BHod 3ﬁda€@e:%§d.

BOodhen TR Radod Iriad
dovEd w8  aSoben
28 AodH IR,



&)

28. The best leader is one who : 28. VD TODT 03508033
(1) draws more members to group. (1) RSRT3, £2§§ ?ch‘:;’éd:%
BTE AT

(2) induces all members to make
(2) TRODT N —N’a‘ﬁédo 3,

MogmuE  emTiohdy

their best contribution.

-(3) ]ead‘s.the group with his own Ne@ra30d %@66&7‘&353&
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(4) is physically strong. ReDRTTRY, BOFERITSI
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29. The 1Q of a five year old girl is 120. 29. o>  S®e SoDyT 2,05
What is her mental age ? BRA0D &D%E’ﬁé oy (LQ.) 120
(1) 6 years ' SAGS B30 BIPSIT FTOITRE, ? Q9
. ) A3 & "f-\ o
(2) 8 years 1y 6=RE ' O_f\/& g
o % ©
(3) 4 years Q) 8= | A &/y
(4) 5 years 3) 4=Re %
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30. Match the following :
A.Language 1. Insightlearning

30. BR0HR WIAND.

A. 2% 303 i e.ReeE
3O

B. w0t 2.085¢ ii. FROTTCwE ~

learning

B. Elephant ii. Classical

tanding conditioning
standing on onditioning 5208 Hed (EENetRlela
one leg DeTHT
C. Learning iii. Trial and Error -
drawing learning 2OV Bees 303
iv. Operant :
s iv. $,0350%,
conditioning 9205
Codes : To3eSNYL !
A B C A B C
(1) ii iv il (H i iv il
() i i i @) i i il
(@) i iv i (3) i v i
4 i i v (4) i i v
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31.

A child is using small wooden piece

as bus and playing. The child is in

which of the following stages of

cognitive development ?

(1)  Sensory motor stage

(2) Pre-operational stage

(3) Concrete-operations stage

(4) Formal-operations stage

In Normal Probability Curve (NPC)
related to distribution of intelligence,

gifted children are located at
(1) the peak of NPC .

(2) Dboth the edges of NPC
(3) oneedge of NPC

(4) the centre of NPC

Which of the following statement

related to intelligence is correct ?

(1) All intelligents are creative.

(2) All intelligent students face
adjustment problem.

(3) Intelligence is determined by

environment.

(4) Intelligence is the ability to

adjust to new environment.

=% Paper-1
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34.

3s.

36.

37.

Which of the following test helps in
determining the chances of success

in a given profession ?

(1) TAT.
(2) DAT
(3) CAT
(4) 16PF
Vicarious reinforcement is the

contribution of

(1) Operant conditioning theary

(2) Classical conditioning theory
(3) Social learning theory
(4) Perceptual learning theory

Which of the following is the most
subjective method of understanding

behaviour ?

(1) Observation
(2) Introspection
(3) Case Study

(4) Experimentation

The following are the stages of
creativity, except
(1) Preparation
2)
(3)

(4) Illumination

Assimilation

Incubation

(11
34.
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39.

40.

41.

The person associated with multiple
intelligence is

(1Y  Goleman

(2) Kohlberg

(3)  Vygotsky

(4) - Gardner

When fox is not able to reach grapes,
it says that grapes are sour. The

defence mechanism used by fox is
(1) Rationalisation

(2)  Repression

(3)  Projection

(4) Sublimation

In *Pro-active inhibition’ the transfer
of learning is

(1) Positive transfer

(2)  Zero transfer

(3) Negative transfer

' (4) Neutral

Ability to monitor one’s own and
others feelings is called

(1) emotional intelligence

(2)  multiple intelligence

(3)  democratic leadership

(4)  creative ability
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42.

44.

Which among the following is

strongly influenced by heredity ?
(a) Mental development

(b) Social development

(¢) Physicall development

(d) Emotional development
(1) Both (a) and (b)

(2) Both (b) and (c)

(3) Both (a) and (¢)

(4) (a), (c)and (d)

The principle which explains that
growth and development follow a

pattern is

(1) Principle of heredity and
environment

(2) Universal principle

(3) Cephalo-Caudal principle

(4) Principle of individual

diftferences

“Effect of intensity of light on speed
of reading” in this experimental

study the intervening variable is
(1) Intensity of light
(2) Speed of reading
(3) Interest of reader

(4) Measuring tool

(13)
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45.

46.

47.

Which of the following is controlled
by heredity ?

(a) Colour of skin
(b) Intelligence

(c) Language

(d) Socialisation
(1) Both (a) and (b)
(2) Both (¢) and (d)
(3) Both (a) and (¢)

(4) Both (b) and (d)

In the concentric circles approach of

the sociometry the ‘star’ is placed
(D o4utside the last circle.

(2) in the last circle.

(3) in the innermost circle.

(4) outside the middle circle.

The persons related to the field of

moral development of a éhild are
(1) Jean Piaget and Havighurst
(2) Stanley Halls and Vygotsky
(3) Havighurst and Stariley Halls

(4) Jean Piaget and Vygotsky
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48.

49.

50.

Verbal guidance is effective in

learning the following, except
(1) Attitudes

(2) Concepts

(3) Skills

(4) Facts

To study the effect of environment
on development.of children, the best

group is
(1) Fraternal twins

(2) Children from two different

families
3) Identical twins

(4) Siblings

A bird is trained to peck a green
light and gets reinforcement after
fixed number of responses. This
schedule of reinforcement is known

as

(1) Ratio
(2) Interval
(3) Variable

(4) Continuous

(15)
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S1.

52.

GENERAL ENGLISH

She hardly studies for the CET

exams. The correct question tag is
(1) Doesshe?
(2) Doesn’t she ?

(3) Didshe?

(4) Didn’t she?

I can write a book grammar.

The correct preposition to be filled

in
(1) on
(2) about
(3) of
(4) in

Identify the part that has a mistake.

The opinion that / happiness or

suffering / depend upon / ourselves
B

is not always true.

D
(1) A
2) B
(3) C
4 D

%+ Paper-1

54.

55.

1. Innovation is work

A.  there are people who clearly
more talented innovators than

the rest of us
it requires knowledge
it also requires great ingenuity

but that alone is not enough

© U N w

and this is because they are
able to imagine and conceive
what we do not even consider

possible.

Arrange A, B, C, D to form a logical

sequence. 1 _and 6 are starting and

ending sentences respectively.

(1) ABCD
(2) BDCA
(3) CDBA
(4) DBCA

He always stammers in public

meetings, but his today’s speech .....

. Choose the correct alternative.

(1) was fairly audible to everyone
present in the hall.

(2)  was not received satisfactorily.

(3) could not be understood

properly.

(4) was free from the defect.



56.

57.

58.

59.

The word “furious’ is an example of
(1) Composition

(2) Derivation

(3)  Onomatopoeia

(4) Back-formation

The synonyin of “Chivalrous’ is
(1) Gallant

(2) Impetuous

(3) Brave

(4) Improverished

The correctly spelt word is
(1) Ciggaret

(2) Cigarate«

(3) Cigarette

(4) Cigarete

Choose the correct sentence.

(1) They finished the work of a
day.

(2) She goes to the temple of
Durga.

(3) We are inclined for hard work.

(4) Service is requisite for

happiness.

(17)

60.

62.

‘Teetotaler’ means one who abstains

from
(1) theft
(2) meat

(3) taking wine

(4) takingtea

His winning the talent hunt show

was not a flash in the pan. The

underlined idiomatic expression can

be replaced by

(1) just a one-off display of

brilliance.
(2) anoticeable achievement.
could be

(3) something that

ignored.

(4) indicative of his ability.

Fatuous person can also be called

(1) sagacious
(2) perceptive
(3) intelligent

(4) stupid

+ Paper-1



63.

64.

65.

66.

(18)

- COMPUTER LITERACY
Computer Fundamentals Objective Questions for High School Teachers

The first digital computer built with
IC chips was known as

(I IBM 7090

(2) Apple-1

(3) IBM System/360

4 VAX-10

In which language is source program

written ?

(1) English
(2) Symbolic
(3) High level
(4) Temporary

‘Which is considered a direct entry

input device ?

(1) Optical Scanner

(2) Mouse and digitizer
(3) Light pen

(4) All of the above

When were the first .minicomputer
built ?

(1) 1965
2) 1962
(3) 1971

(4) 1966

4 Paper-1

63.

64.

6s.

66.
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67.

68.

69.

The computer code for the

interchange of information between

terminals is
(hHh ASCI
(2) BCD

(3) EBCDIC

(4) All of the above

The latest version of Nudi software
(1) 5.1
2) 5.0
(3) 5.5

4) 53

Which is used for manufacturing

chips ?

(1) Bus
(2) Control Unit
(3) Semiconductors

(4) (1)and(2)only

(19)

67.

68.

69.

BNEIUT IET Q03T 3e02st
23508 3N a’omééw@ BRWERE

Todes

(1) ASCII
(2) BCD
(3) EBCDIC

4 oedS oy

@adews Nudi 808203

(1) 5.1
(2) 5.0
(3) 5.5

4) 53

=6
23e..>~

SoIWORL  OIRRYTRY

YRS ?

(1) e=xf

2) Bodpeer FeiE
(3) WITTIND

4 (1) DFR (2) 398,
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70.

71.

72.

A computer program that converts
an entire program into machine

language is called
(1)7 Interpreter
(2) Simulator
(3) Compiler

(4) Commander

A computer program that translates
one program instructions at a time

into machine language is known as
(1) Interpreter

(2) CPU

(3) « Compiler

(4) Simulator

Personnel who design, program,

operate and maintain computer

equipment refers to

(1) Console-operator
(2) Programmer

(3) People ware

(4) System Analyst

4 Paper-1
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73.

74.

75.

Dot matrix is a type of
(1) Tape

(2) Printer

(3) Disk

(4)  Monitor

What was the name of the ﬁi’st

commercially available

microprocessor chip ?
(1) Intel 308

(2) Intel 33

(3) Intel 4004

(4+) Intel 505

A small or intelligent device is so

called because it contains within it a
(1)  Computer

(2)  Microcomputer

(3)  Programmable

(4) Sensor

73.

74.

leplpy E503,59, DO 2,00
(1) &zt

(2) SzE

(3) &=t

(4)  &RAE3TS

BRATLW AITEZITHOA LA DIA]
PR LRR AT Tt BRTH

(1) @otder 308

(2) wotd3u® 33

(3) @03 4004

(4) @otd3e® 505
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(3)  Bpmghwet
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76.

77.

(22)

MENTAL ABILITY

Select from the four alternative
diagrams, the one that best illustrates
the following relationship among the

three classes : Earth, Sun, Moon.

o (©

A man walks 1 km to east and then
he turns to south and walks 5 km.
Again he turns to east and walks
2 km. After this he turns to north and
walks 9 km. Now how far is he from

his starting point ?
(1) 3km
(2) 4km
(3) Skm

(4) 7km

4 Paper-1
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Directions

78.

79.

80.

In the following figures,
acute triangle stands for girls, circle
stands for handicapped children and
rectangle for school going children.
Study the figure and answer the
questions (78) and (79).

Who are the handicapped girls, who

do not go to school ?

(H 1
(2) 2
3) 3
4 5

Who are the girls, who are neither
handicapped nor go to school ?

(y 5

2y 3
3y 2
4 o
The least number which when

divided by 8, 12, 15 and 20 leaves
the remainder 1" is

(ry 121
(2) 241
(3) 361
(4) 91

23)

BRI

78.

79.

80.

FINT BInd ophiecs
OETY  DIONCHTRY,  FF
POMDTL SHE,VE, ) SohI
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TF,H 03T ?

(ry 1

2y 2

3) 3

4 5

OTTITLT L VYT, Joedne
BREMTOTIT BIEIACHTI 0T 2
(y 5

2) 3

3) 2

(4) 6

WO FH 74093250335.2l 8, 12,15
©

Ty 20 dwynPos  gnTen
PO Fewm | =Ed, o sz‘m@
=oad,
9]
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(2) 241
(3) 36l
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81.

82.

83.

84.

Find the wrong number in the series :
5,27, 61, 122,213, 340, 509

(H 122

2 27

3) ol

4 509

The least number which subtracted

from both the terms of the fraction

6 il o . Lo 16,
75 will give a ratio equal to s

(1) 26
Q) 28
(3) 32
@) 22

Everybody in a function shakes hand
with everybody else. If the total
number of hand shakes is 66, then
the

the number of persons in

function is
(1) 45

@ 15
3) 10

@ 12

A father is now 3 times as old as his

son. Five years ago, he was 4 times
as old as his son. The present age of
the son is

(1) 12 years
@y
(3) 18 years
(4) 20 years

15 years

%

Qo\o
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5.27.61, 122,213, 340, 509
(1) 122

Q) 27

(3) 6l

4) 509
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16 s
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(1) 2.6
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(3) 32
4) 22
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%

Directions : Answer the question nos. 85

and 86 based on the following information :

Branches ot'5 Banks A, B. C. D and E are

as follows :

* A, Band C are in Indore and Bhopal.
* A, B and E are in Indore and Gwalior.

* B, Cand D are in Raipur and Bhopal.

* A, Eand D are in Gwalior and Jabalpur.
# C. E and D are in Raipur and Jabalpur.
85.  Branch of which Bank is not in Indore ?
(y E
2y C
(3) B
4) D
86. Branch of which Bank is in Raipur
and Indore but not in Bhopal ?
() D
) A
(3) E
4 C
87. Choose the number which is
different from others in the group ?
(1y 751
«\r)
() T34 \ "
3) 853 1
gl (3) 8 O
ph_(4) 532 N -~
. \7\"\ s ?
v A7

(25)
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4 D g

86. THONPT R faocf.ra‘w*?s@dow
EIT  JRemIOYT  wRoEt
Z0aJ O3FH ?

() D

2y A

(39 E
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88. Four girls are sitting on a bench to
be photographed. Shikha is to the
left of Reena, Manju is on the right
of Reena. Rita is between Reena and
Manju. Who would be second from

the left in the photograph ?

(1) Reena

(2) Shikha
(3) Manju
(4) Rita

Directions : Answer the question nos. 89
and 90 using the following information :
‘T’ is taller than ‘S’, ‘M’ is shorter
than *S’ but taller than ‘L’. ‘T" is shorter
than ‘P’. If they are asked to stand in a line

according to their height.

89. Who comes in the middle ?

1) T
@ s
3) M
@ L

90. Who is the shorter among them ?
(y P

| @ T

3 M

4 L

<% Paper-1
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91.

92.

If the positions of the first and the 6™
letters in the word “DISTRIBUTE”

are interchanged, similarly the

positions of the 2™ and the 7", the
3% and 8" so on. Which of the
following letters will -be the fifth
from left after interchanging the

positions ?
(1) E

Q) 1
3) S

@ T

Find the missing character from

among the given alternatives.
(1) 13
@) 15
3) 17

4) 19

@7

91.

92.
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93.

94.

Complete the given letter series :

a_ba dde__ft_e
(1) abef
(2) adef
‘(3) baaf
(4) beef
If ‘x> means ‘addition’. — mecans
‘divi_’sion" + means ‘subtraction’ and

+ means ‘multiplication’. then which

of the following equation is correct ?

(1) 16x5+10+4-3=19
(2) 16+5+10x4-3=9
(3) 16+5-10x4+3=9
4) 16-5%x10+-4+3=12
Find the next number in the

(28)

94.

i?@l%doaﬁ SonY Beedoay
Gajptata a VoL

a_ ba dde__f ¢
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96.

97.

98.

(29)

Study the following cubes and on the 96.
basis of these figures, find the o
number opposite to number 1 ; N

X

b~
() 2 ;
(2) 4 o~
(3) 3 Q.
4) 5 ©

<

R
If in a code language, ‘COULD’ is
written as ‘BNTKC” and ‘MARGIN’ ~| g
is written as ‘LZQFHM’. How will & o
‘MOULDING’ be written in that

P

code ?

(1) CHMFINTK

2

(2) LNKTCHMF

Ny

(3) LNTKCHMF

7\

(4) NITKHCMF

In a certain code ‘253” means ‘books
are old’, ‘546’ means ‘man is old’

AB CP & A e iy 3 7T
U

and ‘378’ means ‘buy good books’. 3
What stands for ‘are’ in that code ? =<
(ny 2 P
@) 4 N
: - M
4 6 WL gy
o g i
U Y 5%,“\

97.
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99.

100.

@)

How many triangles are there in the

following figure ?

)

2) '18
(3) 13
@ 15

Pointing to a man in a photograph, a
woman said, “His brother’s father is
the only son of My grandfather”.
How is. the woman related to, the

man in the photograph ?
(1) Sister
(2) Mother
(3) Aunt

Daughter

(390)

99.

100.
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